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Aim
• Divide numbers up to 4 digits by a two-digit whole number using the 

formal written method of long division, and interpret remainders as 
whole number remainders, fractions, or by rounding, as appropriate 
for the context.
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Long Division 2

Use your knowledge of multiples to help 
you solve this long division calculation:

Diving

16 32 48 64 80

1 6 1 9 6 8

0   1   2   3   

1968 ÷ 16 = 123
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Long Division 2

A cyclist is planning out the journey time 
for her sponsored cycle. She must cycle 
1792km. She is able to travel 64km each 
day on her bike. How many weeks will it 
take for her to travel the entire distance?

Diving

64 128 192 256 320

6 4 1 7 9 2

0   0   2   8   

1792 ÷ 64 = 28 
The journey will take 
28 days/4 weeks. 
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DeeperLong Division 2

Aron is looking at this division statement:

1560 ÷ 24

40 64 88 112

He has solved the problem using 
long division but says that he 
cannot complete the calculation 
as it will leave a remainder. 

Aron has made a mistake. 

0   0   6   

1   5   6   8   2   4   

24
Can you identify his mistake 
and complete the calculation 
to find the correct answer?

Aron has made a 
mistake when listing 
the multiples of 24 
because 40 is not a 
multiple of 24. This 
should be 48. 

The correct answer 
should be 65.
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DeeperLong Division 2

3600 ÷ 45 = 80
Harnam is correct. 

Because the dividend in 
the second calculation is 
exactly 180 more than 
the dividend in the first 
calculation, she knows 
the quotient will be 
exactly 4 more groups of 
45 greater (4 × 45 = 180) 
giving the answer of 84. 

Harnam thinks that she can use this 
division statement to find the answer to:

3780 ÷ 45 = 84
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DeepestLong Division 2

When a four-digit number is divided by 
this two-digit number, the answer is 45.

÷ = 45

What are the greatest possible 
numbers that could be used to 
complete this division statement?

What are the smallest possible 
numbers that could be used to 
complete this division statement?

4455 ÷ 99 = 45

1035 ÷ 23 = 45
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DeepestLong Division 2

Can you work out the missing numbers in this calculation using the clues?

A ÷ B =  26

A is greater than 2000 and less than 2250

B is a two-digit number.

A

2002

2028

2054

2080

2106

2132

2158

2184

2210

2236

B

77

78

79

80

81

82

83

84

85

86
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Dive in by completing your own activity!

Long Division 2
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